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QUESTION 1

A customer has purchased an Hitachi Storage Cluster (HSC) for Microsoft Environments. Which component is
included?

A. VBS scripts

B. Microsoft Cluster

C. Hitachi VSS Agent

D. Hitachi client for Microsoft Exchange

Correct Answer: A

QUESTION 2

The Hitachi HiCommand Protection Manager (HPtM) software uses Volume Shadow Copy Service (VSS) to protect
mission critical databases, file systems and application data, Which three components does VSS coordinate to achieve
this? (Choose three.)

A. The application that requests VSS services.

B. The programs that manage shadow copies.

C. Copy-on-Write SnapShot designed for VSS.

D. Hitachi Software that allows you to present storage.

E. Applications that store persistent information on disk.

Correct Answer:. ABE

QUESTION 3

An error has occurred on a HiCommand Protection Manager (HPtM) server and logs are required to diagnose the
problem. Which utility is used to collect the HPtM logs?

A. the TIC utility

B. the jpcras utility

C. the drm_log utility

D. the hcmdsgetlogs utility

Correct Answer: C
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QUESTION 4

A Shadowlmage CCI environment has been scripted so that the pairs resynchronize and suspend each hour using the
latest version of CCIl. Shadowlmage has been configured to use consistency groups and At-Time Split. The
Shadowlmage CCI device group name is SI_db01. Which CCI command should be included in the script following the
pairresync command to allow time for the Shadowlmage pairs to be fully resynchronized?

A. pairvolchk -g SI_db01 -c -ss -nomsg

B. pairvolchk -g SI_db01 -c -ss -t 3600

C. pairevtwait -g SI_db01 -s pair -nowait

D. pairevtwait -g SI_db01 -ss pair -t 3600

Correct Answer: D

QUESTION 5

A customer has a 20TB database at his primary site. The database is copied using TrueCopy to a second site about
20km away. There are problems with the link to the second site. The second copy of the database should always be the
same as the primary copy. Which solution should be implemented?

A. Specify FENCELEVEL=DATA on the TrueCopy links.

B. Specify FENCELEVEL=NEVER on the TrueCopy links.

C. Create a third copy of the database using Shadowlmage at the primary site.

D. Create a third copy of the database using Universal Replicator at a third site.

Correct Answer: A
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